



S.W Zone/Out /No.8332
Date :07/02/2026

To,

.....
.....
.....
.....

SUB :- Renovation work of Electrical MCC panel and other miscellaneous Electrical work at chowpati swimming pool in south west zone (Athwa)

Dear Sir,

You are requested to send your sealed quotation duly super scribed as " Quotation for Renovation work of Electrical MCC panel and other miscellaneous Electrical work at chowpati swimming pool in south west zone (Athwa), Surat " on or before Dtd. 17.02.2026 up to 5:00 pm to south west zone (Athwa).

Sr. No.	Item Description	Qty.	Unit	SOR/MR Rate	Amount
1	Painting of Main MCC Panel and Fabrication work with Replacement of panel Rubber Gasket and Internal Electrical work (Size:-W-1750mm,H-1250,D-260mm)	01	Job	21200.00	21200
	SETC work of Following Item in Panel Work				
2	Providing and erecting Approved make Four pole moulded case circuit breaker having breaking capacity ICU of 35 KA. at 415 V. having Normal current rating 200A. with variable Thermal & magnetic release suitable to work on A.C.supply 50 c/s. with all internal connections, spreader tinned copper & complete erected in existing 16 G.M.S.housing.	01	Nos.	17843.77	17843.77
3	Motor Protection Thermal Over load relay (6-10AMP)	02	Nos.	1500.00	3000.00

4	4 A HRC Fuse link	10	Nos.	100	1000.00
5	Providing & erecting 415 V MCB three Pole for Motor & Inductive Load (C Curve) having 10KA breaking capacity & confirms to IS :8828 in existing box having following capacity- 6 to 32 Amp.	04	Nos.	587.82	2351.28
6	Push Butan with Element	15	Nos.	130	1950.00
7	Indication Lamp 230V AC	15	Nos.	80	1200.00
8	Providing & erecting 415 V MCB Four Pole for Motor & Inductive Load (C Curve) having 10KA breaking capacity & confirms to IS :8828 in existing box having following capacity -40 Amp MCB	09	Nos.	668.62	6017.58
9	Providing and erecting XLPE(IS:7098)(I)-88 ISI armoured cable multistrand / Solid Copper conductor for 1.1 KV. to be laid on wall with necessary clamps or in existing trench / pipe at road crossing or floor of following size of cables. (1) 4CX2.5 sq mm	30	Mtr.	269.67	8090.10
10	Providing and fixing heavy duty flange type brass cable gland 2 to 4 core 2.5 / 4 Sq. mm	8	Nos.	33.33	266.64
11	Solder less crimping type Copper lugs 1.5/2.5 to 6 Sq.mm	32	Nos.	8.08	258.56
12	Supplying & erecting XLPE(IS:7098)(I)-88 ISI unarmoured copper cable 1.1 KV grade to be erected as directed of following size. 4 core 10 Sq. mm	15	Mtr.	570.65	8559.75
13	Solder less crimping type Copper lugs 10 sQ.MMq.mm	30	Nos.	10.10	303.00
14	Providing and fixing heavy duty flange type brass cable gland 2 to 4 core 10 Sq. mm	6	Nos.	38.38	230.28
15	16 mm Kut Terminal with Din rail channel	20	Nos.	40	800.00
16	Disconnecting the cable connection and Providing straight joint with PVC mould using heat shrink /cast resin type epoxy compound Insulating material and making the joint complete using necessary in line connectors, hardener, earth continuity connection, spacers etc. and reconnecting the same & ensure the joint resistance within the limits as per IS. Up to 95 Sq. mm cable.	3	Nos.	1550.35	4651.05

17	Revamping/Termination of Main Meter Panel (main supply)	01	Job	1600	1600
18	Providing & erecting 240 V MCB double pole switch for motor & inductive load (C Curve) having 10 KA breaking capacity & confirms to IS : 8828 in existing box having following capacity - 6 to 32 Amp.	05	Nos.	299.97	1499.85
19	Providing and erecting Sheet Steel powder coated Vertical MCB distribution board (VTPN) - flush / surface mounted double door (IP54) fitted with copper insulated busbar, isolated neutral bar, earth bar and DIN rail, Conforms to IS 8623-1 & 3, IEC 61439-1 & 3, suitable for 63/100 AMP TPN MCCB + RCCB as incomer and three phase outgoing as per following .(The DBs should be used of same company of MCB to be used) 8 way outgoing	01	Nos.	8402.19	8402.19
Total amount of Electrification without GST Rs.					89,224.05
Add GST 18% Rs.					16060.33
Total Estimated Cost with GST Rs.					1,05,284.38

VENDOR'S LIST

Sr. No.	Equipments/ Accessories	Make
1	Armoured/Un armoured Cable	CCI, Universal, Finolex, Torrent, Havells, KEI, R R Kabel, Bharat Cab, Incab, Gloster, Avocab, Unistar
2	MCB,ELCB,RCCB, Other Accessories	Siemens, MDS. L&T, Merlin Gerin, Indokupp, Schneider, Hager, Havells, ABB, C&S, Lagrand, Mitsubishi, Standard, CG

I/We here by tendered to execute the above mentioned description of a work in accordance the accompanying specification and condition in consideration of the quantity of the work to be executed at PAR rate i.e. same cost / at _____ % (Percentage) in word

_____ Percentage Below / Above amount shown in Schedule - B

Executive Engineer
South West (Athwa) Zone
Surat municipal Corporation

Seal & Signature of Contractor

□Technical Terms and Condition□

- Electrical Material like Cable, MCB, Junction box etc must have warranty minimum 1 year.
- Quantity mentioned here are approximate only. It may vary as per actual requirement.
- Contractor has to get approval of the make/ material out of list mention above before supply.

□Other Terms & Condition□

- The rates should be Excluding of GST & Including of other taxes/duties/loading/unloading/Labour including Transporting.
- Validation of Quotation will be 120 days from the last date of submission of Quotation.
- Bidders are suggested to visit the site location before quoting this quotation and for any further query, bidder can contact Light department of South West Zone, Athwa SMC.
- Work Completion period will be 30 Days from the date of work order. If contractor fails to complete above work than penalty @ 0.2% of amount unexecuted work per day delayed should be recovered from your bill. Maximum delay penalty shall be recovered 10% of unexecuted amount of work order.
- Contractor will have to submit Security deposit at the rate of 2 % of work order value within 10 days from the date of work order otherwise; penalty @ 0.065% of the amount of security deposit per day of delay shall be levied.
- Successful Contractor have to do Agreement, Surety & Undertaking on the non judicial stamp paper of Rs.300/- each purchased from Surat city only.
- Any "price variation clause" shall not be accepted.
- It is to be clearly noted that advance planning must be done with the department before installation work.
- Miscellaneous items to complete the installation in all respect & as described in specification.
- All required materials, tools, tackles and men power for the job shall be brought by the Contractor.
- Payment shall be made after satisfactory Completion of whole SETC work in all respect and submission of required documents and invoices of the work.
- All The Central, State and Local government rules and regulations including Safety shall be strictly followed by the Contractor.
- The name of work i.e. "**Quotation for the work of**" must be mentioned on the envelope.

Thanking You

Executive Engineer
South West (Athwa) Zone
Surat municipal Corporation

Seal & Signature of Contractor